

$$F(x) = \int_{-\infty}^x g(x) dx$$

$$\langle X \rangle = \sum_n x_n P_n$$

$$\langle X \rangle = \int x g(x) dx$$

$$\sigma^2 = \langle X^2 \rangle - \langle X \rangle^2$$
$$= \int (x - \langle X \rangle)^2 g(x) dx$$

$$\langle X + Y \rangle = \langle X \rangle + \langle Y \rangle$$

$$\langle XY \rangle = \langle X \rangle \langle Y \rangle$$

$$\langle X^n \rangle = \int x^n g(x) dx$$

$$\mu_n = \int (x - \langle X \rangle)^n g(x) dx$$

$$G(z) = \sum_{n=0}^{\infty} \mu_n z^n$$

$$\langle X \rangle = G'(1)$$

$$G(1) = 1$$

$$\sigma^2(X) = G''(1) + G'(1) - G'(1)^2$$

$$f(t) = G(e^{it}) = \int e^{itx} g(x) dx$$

$$g(x) = \frac{1}{2\pi} \int e^{-itx} f(t) dt$$

$$F(m) = \frac{1}{2}$$

$$\text{Cov}(X, Y) = \langle XY \rangle - \langle X \rangle \langle Y \rangle$$

$$\text{Cov}(X, X) = \sigma^2(X)$$

$$P(A|B) = \frac{P(A \cup B)}{P(B)}$$

$$P(B) = \sum_{i=1}^n P(B|A_i) P(A_i)$$

$$P(A_2|B) = \frac{P(B|A_2) P(A_2)}{\sum_{i=1}^n P(B|A_i) P(A_i)} = \frac{P(B|A_2) P(A_2)}{P(B)}$$

$$P(B) = P(B|A) P(A) + P(B|\bar{A}) P(\bar{A})$$

Exponentialis

$$P = \frac{1}{n}$$

$$P(x) = \begin{cases} \frac{1}{x_2 - x_1} & x_1 \leq x \leq x_2 \\ 0 & \text{sonst} \end{cases}$$

$$F(x) = \begin{cases} 0 & x < x_1 \\ \frac{x - x_1}{x_2 - x_1} & x_1 \leq x \leq x_2 \\ 1 & x > x_2 \end{cases}$$

$$\langle X \rangle = \frac{1}{n} \sum_{i=1}^n x_i$$

$$\sigma^2 = \frac{1}{n} \sum_{i=1}^n x_i^2 - \left( \frac{1}{n} \sum_{i=1}^n x_i \right)^2$$

Binomialis

$$P = P_z = \binom{N}{z} p^z q^{N-z}$$

$$\langle X \rangle = Np \quad \sigma^2(x) = Npq \quad G(z) = (pz + q)^N$$

Geometrische

$$P = P_z = p q^{z-1}$$

$$\langle X \rangle = \frac{1}{p} \quad \sigma^2(x) = \frac{q}{p^2}$$

$$G(z) = \frac{p^z}{1 - qz}$$

Hypergeometrische

$$P = P_z = \frac{\binom{K}{z} \binom{N-K}{n-z}}{\binom{N}{n}}$$

$$\langle X \rangle = n \frac{K}{N} \quad \sigma^2(x) = n \frac{K}{N} \frac{N-K}{N} \frac{N-n}{N-1}$$

Negative Binomialis

$$P = P_z = \binom{m+z-1}{z} p^z q^m = \binom{-m}{z} (-p)^z q^m$$

$$\langle X \rangle = \frac{mq}{1-p} \quad \sigma^2(x) = \frac{mq}{(1-p)^2} \quad G(z) = \left( \frac{1-p}{1-pz} \right)^m$$

~~Exponentialis~~  
Exponentialis

$$P(x) = \begin{cases} \lambda e^{-\lambda x} & x \geq 0 \\ 0 & x < 0 \end{cases}$$

$$F(x) = \begin{cases} 1 - e^{-\lambda x} & x \geq 0 \\ 0 & x < 0 \end{cases}$$

$$\langle X \rangle = \frac{1}{\lambda}$$

$$\sigma^2(x) = \frac{1}{\lambda^2}$$

$$P(t) = \frac{1}{1-it}$$

Gamma: exp. distribúció összege, 1 aparam

$$Y = X_1 + \dots + X_n \quad \Gamma(n) = (n-1)! \quad g_n(x) = \frac{\lambda^n x^{n-1}}{(n-1)!} e^{-\lambda x}$$

$$\langle Y \rangle = \frac{n}{\lambda} \quad \sigma^2(Y) = \frac{n}{\lambda^2}$$

Poisson

$$p = P_n = \frac{\lambda^n}{n!} e^{-\lambda}$$

$$\langle X \rangle = \lambda \quad \sigma^2(X) = \lambda \quad G(z) = e^{-\lambda(1-z)}$$

Normalis:

$$g(x) = \frac{1}{\sqrt{2\pi}\sigma} e^{-\frac{(x-\mu)^2}{2\sigma^2}} \quad F(x) = \frac{1}{2} \left[ 1 + \operatorname{erf} \left( \frac{x-\mu}{\sqrt{2}\sigma} \right) \right]$$

$$\langle X \rangle = \mu \quad \sigma^2(X) = \sigma^2 \quad f(t) = e^{-\frac{\sigma^2 t^2}{2} + i\mu t}$$

Standard normalis:  $\mu = 0, \sigma = 1$  Norm

$$\operatorname{erf} = \frac{1}{\sqrt{\pi}} \int_{-x}^x e^{-t^2} dt = \frac{2}{\sqrt{\pi}} \int_0^x e^{-t^2} dt$$

$$g(x) = \frac{1}{\sqrt{2\pi}} e^{-\frac{x^2}{2}} \quad F(x) = \frac{1}{2} \left[ 1 + \operatorname{erf} \left( \frac{x}{\sqrt{2}} \right) \right]$$

$$\langle X \rangle = 0 \quad \sigma^2 = 1 \quad f(t) = e^{-\frac{t^2}{2}}$$

Lognormalis:  $Y = \ln X$  Norm

$$g(x) = \frac{1}{\sqrt{2\pi}\sigma_0 x} e^{-\frac{(\ln x - \mu_0)^2}{2\sigma_0^2}} \quad F(x) = \frac{1}{2} \left[ 1 + \operatorname{erf} \left( \frac{\ln x - \mu_0}{\sqrt{2}\sigma_0} \right) \right]$$

$$\langle X \rangle = e^{\mu_0 + \frac{\sigma_0^2}{2}} \quad \sigma^2(X) = e^{2\mu_0 + \sigma_0^2} (e^{\sigma_0^2} - 1)$$

$\chi^2$ : Standard normalis eloszlás összege

$$y = x^2 \quad g(y) = \frac{1}{\sqrt{2\pi}y} e^{-\frac{y}{2}} = \frac{1}{\Gamma(\frac{n}{2}) 2^{\frac{n}{2}}} x^{\frac{n}{2}-1} e^{-\frac{x}{2}}$$

$$\langle x^2 \rangle = n \quad \sigma^2(x^2) = 2n \quad f_n(t) = \frac{1}{(1-2it)^{\frac{n}{2}}}$$

$\gamma: \gamma^2$  märke

$$y = \sqrt{x} \quad g(y) = \frac{1}{\Gamma\left(\frac{n}{2}\right) 2^{\frac{n}{2}-1}} y^{n-1} e^{-\frac{y^2}{2}}$$

$$\langle x \rangle = \sqrt{2} \frac{\Gamma\left(\frac{n+1}{2}\right)}{\Gamma\left(\frac{n}{2}\right)} \quad \sigma^2(x) = n-2 \frac{\Gamma\left(\frac{n+1}{2}\right)^2}{\Gamma\left(\frac{n}{2}\right)^2}$$

Student:  $X_1, \dots, X_n, Y$  standard norm  $\rightarrow t = \frac{\sqrt{n} Y}{\sqrt{X_1 + \dots + X_n}} \xrightarrow{\text{Student}} = \frac{\sqrt{n} Y}{\gamma}$

$$g(x) = \frac{1}{\sqrt{n\pi}} \frac{\Gamma\left(\frac{n+1}{2}\right)}{\Gamma\left(\frac{n}{2}\right)} \frac{1}{\left(1 + \frac{x^2}{n}\right)^{\frac{n+1}{2}}} = S_n(x)$$

$$\langle x \rangle = \begin{cases} 0 & n > 1 \\ \emptyset & n = 1 \end{cases} \quad \sigma^2(x) = \begin{cases} \frac{n}{n-2} & n > 2 \\ \emptyset & n \leq 2 \end{cases}$$

Cauchy,  $n=1$  Student

$$g(x) = \frac{1}{\pi} \frac{1}{1+x^2} = C(x) = \frac{1}{\pi} \frac{C}{1+x^2}$$

$$\langle x \rangle = \emptyset \quad \sigma^2(x) = \emptyset \quad f(x) = e^{-|x|}$$

Matrisresultat Lemma

$$g(x) \sim \frac{1}{|x|^k}$$

$$k \leq 3 \rightarrow \sigma^2 = \emptyset \quad k \leq 2 \rightarrow \mu = \emptyset$$